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Guess Paper – 2010

Class – XII

Subject – Computer Science (083)

Time allowed: 3 hours





       

   Maximum Marks: 70

NOTE:

(i) All questions are compulsory.
(ii) Answer the questions after carefully reading the text.
(iii) Programming Language is C++.

Q-1
(a)  What do you mean by static variable? Explain with help of example.



(2)
(b)   Name the header file for the given functions i) 
atof()

ii) 
ceil()


(1)
(c) Rewrite the following program after removing the syntactical errors(if any). Underline each correction.











(2)
# include <iostream.h>

# include <conio.h>

# define sqr(x) = x*x

void main ()

{

int i,j,k;

ifstream x;

x.open ("triplet.txt");

for (i = 1; i<10; i++)

for (j = 1; j<10; j++)

for (k = 1; k<10; k++)

if (k = sqrt (sqr(i) + sqr (j) ) )

x << endl << i << " <<< " << j << " <<< " << k;

x.close();

}
(d) Find the output of the following program:







(2)
#include < iostream.h>

void main( )

{ int *PointerArray [10];

int marks [ = {75, 68, 90, 34, 0, 10, 90, 65};

for (int I = 0; marks [ I]!=0; I++)

{ PointerArray [I]=&marks[I];

* (PointerArray [I] ) += 5;

}

int index = 0;

while(index < I )

{ int p=*(PointerArray[index] );

if(p >=60) cout <<p<< ‘, ’;

index ++;

}

}

(e) Find the output of the following program:
(Assuming that all necessary header file are already exist)













(3)

char *S=”LocaL ObjeCT”;
int L=strlen(S);
for(int C=0;C<L;C++)

if(islower(S[C]))


S[C]=toupper(S[C+1]);
else


if(C%2==0)



S[C]=’E’;
else



S[C]=tolower(S[C]+1);

cout<<”New message :”<<S;
(f) Find the output of the following program:







(2)
# include <iostream.h>

# include <conio.h>

# include <stdlib.h>

void main ()

{

  char serial[] = {'A', 'B', 'C', 'D'};

  int number[] = { 2, 6, 7, 3};

  clrscr();

  randomize();

  cout << " The winner is : ";

  cout << serial [random(3)];

  for (int i = 0; i < 4; i++)

     cout << number[sizeof(int) + random(2) - 1 ];

  getch();

}

Outputs:

(i)
The winner is : A2776

(ii)
The winner is : D6766

(iii) 
The winner is : B6767

(iv) 
The winner is : C3672

Q- 2 a. Write the short on the Polymorphism. Explain with example.




(2)
b. Answer the questions (i) and (ii) after going through the following class.



(2) class Maths

{

char Chapter [20];

int Marks;

public:

Maths (int x, char ch[ ]) //Function 1

{

----------------

}

Math (Math & A1) //Member Function 2

{

-----------------

}

};

(i) Complete the definitions of Member Function 1 and Member Function 2 in the above example.
(ii) How would Member Function 1 and Member Function 2 get executed? 
c. Define a class named Admission in C++ with following description?




(4)
Private members:

admno

integer (Ranges 10-1500)

name

string of 20 characters

cls

integer

fees 

float

Public members:

A constructor which initialized admno with 10, name with “NULL”, cls with 0 & fees with 0

Function getdata() to read the object of Admission type.

Function putdata() to print the details of object of admission type.

Function draw_nos() to generate the admission no. randomly to match with admno and display the detail of object.

d. Consider the following declarations and answer the questions given below:



(4)

class Mydata

{ protected:

int data;

public:

void Get_mydata(int);

void Manip_mydata(int);

void Show_mydata(int);

Mydata( );

~Mydata( );

};

class Personal_data

{

protected:

int data1;

public:

void Get_personaldata(int);

void Show_personaldata(int);

Personal_data1( );

~Personal_data1( );

};

class Person: public Mydata, Personal_data

{

public:

void Show_person(void);

Person( );

~Person( );

};

i) How many bytes will be required by an object belonging to class Person?

ii) Which type of inheritance is depicted in the above example?

iii) List the data members that can be accessed by the member function Show_person( ).

iv) What is the order of constructor execution at the time of creating an object of class Person?
Q-3 a
Write a function in C++ which accepts an integer array and its size as arguments / parameters and arrange all the odd numbers in the first row and even numbers in the second row of a two dimensional array. The unused cells of two dimensional array must be filled with 0.

(3)

If the array is 
1, 2, 3, 4, 5, 6



The resultant 2-D array is given below



1
3
5
0
0
0



0
0
0
6
4
2
b.
An array ARR [7][6] is stored in the memory column wise. Find the address of ARR [4][3], if the address of ARR[3][1] is 260 and the address of ARR[0][5] is 360.




(2)
c.
Complete the following class with function definitions of Push () and pop () only.

(3)
class revision

{

 private :

   struct exam

     {

       int rollno;

       int marks;

       exam *next;

     };

     exam *head;

 public :

     revision()

     {

       head = NULL;

     }

     void push();    
// to add a data at the top

     void pop();     
// to remove a data from the top

     void show();
 // to display content of stack

};
d.
Write a function in C++ which accepts a 2-D array of integers and its size as arguments and prints no of even numbers and odd numbers in each column.





(2)
If the array is 




11
12
31
41



52
62
71
82



9
10
11
12


The output will be 



Column 1:
Even numbers : 1
Odd numbers : 2



Column 2:
Even numbers : 3
Odd numbers : 0



Column 3:
Even numbers : 0
Odd numbers : 3



Column 4:
Even numbers : 2
Odd numbers : 1
e.
Write the equivalent postfix notation for  the following:





(2)


A + B – C * D + E / F + G / H ^ I * J
f. Write a function insertq() to add a new element in array implemented Queue.


(2)

Q-4 a. Observe the program segment given below carefully, and answer the question that follows : 











class Member




{





int Member_no;





char Member_name[20];





public :






void enterdetails{) ;





void showdetails();





int RMember_no() {return Member_no; }




};




void Update(Member NEW)




{




fstream File;




File.open(“MEMBER.DAT”,ios::binary|ios::in|ios::out);




Member OM;




int Recordsread = 0, Found = 0;




while (!Found && File.read((char*)&OM, sizeof(OM)))




{




if (NEW.RMember_no() == OM.RMember_no())




{



int pos=NEW.tellg()-sizeof(NEW);



___________________//Missing Statement




File.write((char*)&NEW, sizeof(NEW));




Found = 1;




}




else




File.write((char*)&OM, sizeof(OM));




}




if (!Found)




cout<<“Record for modification does not exist”;




File.close();




}


If the function Update ( ) is supposed to modify a record in file MEMBER.DAT with the values of Member NEW passed to its argument, write the appropriate statement for Missing Statement using seekp( ) or seekg( ), whichever needed, in the above code that would write the modified record at its proper place. According to the given concept.









(1)
b. Assume a text file “vowel.txt” is already created. Using this file create a function to create two files “Lower.txt” which contains all the lowercase vowels and “Upper.txt” which contains all the uppercase vowels.












(2)

c. Write a function in C++ to transfer a particular type of stock from the file “inventory.dat” to another file “backinvent.dat”. Assuming that the binary file is containing the records of following structure :



struct Products

{



int id;



char Iname[30];



int type;

};

Remember that transfer means deletion from the “inventory.dat” file and addition in the “backinvent.dat” file.













(3)

Q-5
a. 
Define Relation and Foreign key.







(2)
Write a SQL commands for (b) to (g) with the help of the Relation given below:
Relation : Item


Description


char (20)


To store the product name

Type



char (20)


to store the use of product 

Price



number (8, 2)


To store the price of item

Brand



char (10)


To Store the Brand name

b. Show sum and average price for Soap which is stored in type field.

c. Display all the unique type.

d. Add a new column in the table called qty.

e. Increase the price of all employees by 10%.

f. List the report showing description, type price and updated price included with VAT as 10%.
g. Display the brand, showing the sum of the price of each brand.



(6)
Q-6

a. 
Simplify the Boolean expression of F using Karnaugh Maps:



F (a, b, c) = ( (1, 3, 5, 7)








(2)
b.
State and verify the De Morgan’s law using Algebraic method?




(1)
c.
There are four railway tracks at a place. It is desired to design a logic circuit, which can give a signal when three or more trains pass together at any given time.





(3)



(i)
Draw the truth table for the above problem.



(ii)
Simplify the expression using K-Map.



(iii)
Draw a Logic circuit.









d.Given the following truth table, write the sum-of-product form of the function F(x, y, z).

(1)

	X
	Y
	Z
	F

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	1


e.
Represent NOT using only NOR gate(s).







(1)

Q-7

a) Compare packet switching and message switching. 






(1)
b) Expand the following terminologies:
i) WAIS 

ii) NFS 




(1)

c) What is web Portal ? Name any one.








(1)
d) What do you understand by network security?







(1)
e) What do mean by shareware software and free software.





(2)

f) A company in Qatar has 4 wings of buildings as shown in the diagram:




(4)


 SHAPE  \* MERGEFORMAT 



   Center to center distances between various Buildings:


W3 to W1


45m


W1 to W2


55m


W2 to W4 


20m


W4 to W3 


160m


W3 to W2


120m


W1 to w4


80m

     Number of computers in each of the wing:

    
W1

250


W2

15


W3

15


W4

35

Computers in each wing are networked but wings are not networked. The company has now decided to connect the wings also.

  
i) Suggest a most suitable cable layout of the connection between the wings and topology.



ii) Suggest the most suitable wing to house the server of this company with a suitable reason.



iii) Suggest the placement of the following devices with justification:






1) Internet connecting device/modem




2) Repeater

iv) The company is planning to link its head office situated in India with the offices at Oman. Suggest an economic way to connect it; the company is ready to compromise on the speed of connectivity. Justify your answer.
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